
E6
9

(Bossa) = 67

Am6/E E6
9 Bm7 E7 9

AMaj7 A6 C m7 F 7 5 BMaj7 B9sus4

G m7 C m7 Am7 D9 EMaj7 Bm7 E7 9

D m7 D9 F 9sus4 F 7 D m7 G m7

F7 9 EMaj7 A m7 D 7 9 G m7 G m7/F

1

Eu e a brisa
Johnny Alf



(Bossa) = 67

F7 9 EMaj7 A m7 D 7 9 G m7 G m7/F

1

Eu e a brisa
Johnny Alf



Fm7 5 A 7 9 D m7 D m7/C B 7 9 B 11
7

A m7 B9sus4 B7 9 G m7 Am7 D7 9

GMaj7 FMaj7 E9sus4 G9 AMaj7 D9 C m7 F 7 5

BMaj7 B9sus4 EMaj7 F m7

G m7 F7 9

1.

A9

2.

G Maj7

2

Eu e a brisa (cont.)



A9

2.

G Maj7

2

Eu e a brisa (cont.)


